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Gang decimaler med 10.100.1000

5,356 x 100 =

3,223 x 10 =

1,238 x 100 =

4, 549 x 1000 =

4,873 x 10 =

8,946 x 1000 =

6,103 x 10 =

9,031 x 1000 =

8,945 x 10 =

7,422 x 1000 =

6, 749 x 1000 =

9, 898 x 100 =

Dato:

3,075 x 1000 =

8,946 x 10 =

6,103 x 10 =

3,394 x 100 =

6,067 x 1000 =

7,304 x 100 =

8,821 x 100 =

9,804 x 100 =
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Score:
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Gang decimaler med 10.100.1000

5,356 x 100 = 535.6

3,223 x 10 =32.23

1,238 x 100 = 123.8

4,549 x 1000 = 4549

4,873 x 10 =48.73

8,946 x 1000 = 8946

6,103 x 10 =61.03

9,031 x 1000 = 9031

8,945 x 10 = 89.45

7,422 x 1000 = 7422

Dato: Score:

6, 749 x 1000 = 6749

9, 898 x 100 = 989.8

3,075 x 1000 = 3075

8,946 x 10 = 89.46

6,103 x 10 =61.03

3,394 x 100 = 3394

6,067 x 1000 = 6067

7,304 x 100 = 730.4

8,821 x 100 = 882.1

9,804 x 100 = 980.4
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